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BOAT AND STREAM

[ uko ,oa /kjk ]
1. A man rows a boat 18 kilometres in 4 hours

down-stream and return upstream in 12 hours.
The speed of the stream (in km per hour) is ?

,d O;fDr /kjk dh fn'kk esa uko ls 4 ?kaVs esa 18 fdeh- nwjh
r; djrk gS vkSj /kjk ds izfrdwy fn'kk esa 12 ?kaVs esa okil
vkrk gS] rks /kjk dh xfr (fdeh-@?kaVk) Kkr djsa ?
(a) 1 (b) 1.5
(c) 2 (d) 1.75

2. A boat goes 20 km downstream in one hour and
the same distance upstream in two hours. The
speed of the boat in still water is ?

,d uko /kjk dh fn'kk esa 1 ?kaVs esa 20 fdeh- nwjh r; djrh
gS vkSj bruh gh nwjh /kjk dh izfrdwy fn'kk esa 2 ?kaVs esa r;
djrh gSA rks 'kkar ty esa uko dh xfr Kkr dhft, ?
(a) 15 km/hr (b) 10 km/hr
(c) 5 km/hr (d) 7.5 km/hr

3. A man rows 750 m in 675 seconds against the
stream and return in 7½ minutes. Find his
rowing speed in still water ?

,d O;fDr /kjk ds izfrdwy 750 eh- 675 lsds.M esa tkrk
gS vkSj 7½ feuV esa okil vkrk gS] rks 'kkar ty esa mldh
xfr Kkr dhft, ?
(a) 3 kmph (b) 4 kmph
(c) 5 kmph (d) 6 kmph

4. A boat goes 6 km an hour in still water, it takes
thrice as much time in going the same distance
against the current comparison to direction of
current. The speed of the current (in km/hour)
is ?

,d uko 'kkar ty esa 1 ?kaVs esa 6 fdeh- dh nwjh r; djrh
gSA og /kjk ds izfrdwy mruh gh nwjh /kjk dh fn'kk ds vis{kk
rhu xqus le; esa r; djrh gSA rks /kjk dh xfr Kkr dhft, ?

(a) 4 (b) 5
(c) 3 (d) 2

5. A boat goes 40 km up stream in 8 hours and 36
km downstream in 6 hours. The speed of the boat
in still water is ?

,d uko 8 ?kaVs esa 40 fdeh- /kjk ds izfrdwy fn'kk esa tkrh
gS tcfd 6 ?kaVs esa 36 fdeh /kjk dh fn'kk esa tkrh gS] rks 'kkar
ty esa uko dh xfr D;k gksxh ?
(a) 6.5 km/hr (b) 5.5 km/hr
(c) 6 km/hr (d) 5 km/hr

6. A man can row boat at 5 kmph in still water. It
is velocity of current is 1 kmph and he takes 1

hour to row to a place and come back, how far
is the place ?

'kkar ty esa ,d O;fDr 5 fdeh- izfr ?kaVk dh xfr ls ukSdk
pyk ldrk gSA ;fn /kjk dh xfr 1 fdeh- izfr ?kaVk gks] rks
og 1 ?kaVs esa fdlh LFkku ij tkdj vk tkrk gS] rks og LFkku
fdruh nwj gS ?
(a) 2.5 km (b) 3 km
(c) 2.4 km (d) 3.6 km

7. A motorboat in still water travels at a speed of
36 kmph. It goes 56 km upstream in 1 hour 45
minutes. The time taken by it to cover the same
distance down the stream will be ?

'kkar ty esa ,d eksVjcksV dh xfr 36 fdeh@?kaVk gS ;g /
kjk ds izfrdwy 1 ?kaVs 45 feuV esa 56 fdeh- dh nwjh r;
djrh gS] rks bruh gh nwjh ;g /kjk dh fn'kk esa fdrus le;
esa r; djsxk ?
(a) 2 hrs 25 min. (b) 3 hrs
(c) 1 hrs 24 min. (d) 2 hrs 21 min

8. A man can row at a speed of 4½ km/hr in still
water. If he takes 2 times as long to row a
distance upstream as to row the same distance
downstream, then the speed of stream (in km/
hr) is ?

'kkar ty esa ,d O;fDr dh xfr 4½ fdeh- gSA ;fn og
ftrus le; esa /kjk dh fn'kk esa dqN nwjh r; djrk gS] mruh
gh nwjh /kjk dh izfrdwy fn'kk esa nksxqus le; esa r; djrk
gS] rks /kjk dh xfr (fdeh@?kaVs) esa Kkr dhft, ?

(a) 1 (b) 1.5
(c) 2 (d) 2.5

9. The speed of motor-boat is that of the current
of water as 36 : 5. The boat goes along with the
current in 5 hours 10 minuts. It will come back
in ?

,d eksVjcksV rFkk /kjk dh xfr dk vuqikr 36 : 5 gSA
eksVjcksV /kjk dh fn'kk esa 5 ?kaVs 10 feuV esa tkrk gS] rks og
fdruh nsj esa okil vk,xk ?
(a) 5 hrs 50 min (b) 6 hrs
(c) 6 hrs 50 min (d) 12 hrs 10 min

10. A man can row 15 km/hr downstream and 9
km/hr upstream. The speed of the boat in still
water is ?

,d O;fDr uko ls /kjk dh fn'kk esa 15 fdeh- izfr?kaVk dh
xfr ls rFkk /kjk dh izfrdwy fn'kk esa 9 fdeh- izfr ?kaVs dh
xfr ls tk ldrk gS] rks 'kkar ty esa uko dh xfr Kkr
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dhft, ?

(a) 8 km/hr (b) 10 km/hr
(c) 15 km/hr (d) 12 km/hr

11. In a fixed time, a boy swims double the distance
along the current that he swims against the
current. If the speed of the current is 3 km/hr,
the speed of the boy in still water is ?

,d fuf'pr le; esa ,d yM+dk /kjk ds izfrdwy ftruh nwjh
rd rSjrk gS mldh nksxquh nwjh og /kjk dh fn'kk esa rSjrk gSA
;fn /kjk dh xfr 3 fdeh@?kaVk gS] rks 'kkar ty esa yM+ds dh
xfr D;k gksxh ?
(a) 6 km/hr (b) 9 km/hr
(c) 10 km/hr (d) 12 km/hr

12. Aman goes downstream with a boat to some
destination and returns upstream to his original
place in 5 hours. If the speed of the boat in still
water and the stream are 10 km/hr and 4 km/hr
respectively, the distance of the destination from
the starting place is ?

,d O;fDr uko ls /kjk dh fn'kk esa fdlh LFkku ij tkrk gS
vkSj iqu% èkkjk ds izfrdwy fn'kk esa vius fu;e LFkku ij 5
?kaVs esa okil vk tkr gSA ;fn 'kkar ty esa uko dh xfr rFkk
/kjk dh xfr Øe'k% 10 fdeh-@?kaVk rFkk 4 fdeh-@?kaVk gS] rks
'kq:vkrh fcUnq ls ml LFkku dh nwjh D;k gS ?
(a) 16 km (b) 18 km
(c) 21 km (d) 25 km

13. Two boats A and B start towards each other from
two palces, 108 km apart. Speed of the boat A
and B in still water are 12 km/hr and 15 km/hr
respectively. If a proceeds down and B up the
stream, they will meet after ?

nks uko A rFkk B nks vyx&vyx txgksa ls ,d&nwljs dh
rjiQ pyrs gSA nksuksa txgksa ds chp dh nwjh 108 fdeh- gSA
'kkar ty esa uko A rFkk uko B dh xfr Øe'k% 12 fdeh@?kaVk
rFkk 15 fdeh-@?kaVk gSA ;fn A /kjk dh fn'kk esa vkxs c<+rk
gS rFkk B /kjk dh izfrdwy fn'kk esa vkxs c<+rk gS] rks os
fdruh nsj ds ckn feysaxs ?
(a) 4.5 hours (b) 4 hours
(c) 5.4 hours (d) 6 hours

14. Speed of motorboat in still water is 45 kmph. If
the motorboat travels 80 km along the stream
in 1 hour 20 minutes, then the time taken by it
to cover the same distance against the stream
will be ?

'kkar ty esa ,d eksVjcksV dh xfr 45 fdeh-@?kaVk gSA ;fn
eksVjcksV /kjk dh fn'kk esa 80 fdeh nwjh 1 ?kaVk 20 feuV esa
r; djrh gS] rks og bruh gh nwjh /kjk ds izfrdwy fn'kk esa
fdruh nsj eas r; djsxh ?
(a) 3 hrs (b) 1 hr 20 min
(c) 2 hrs 40 min (d) 2 hrs 55 min

15. A boat running rows downstream covers a

distance of 20 km in 2 hrs while it covers the
same distance upstream in 5 hrs. The speed of
the boat in still water is ?

,d uko /kjk dh fn'kk esa 2 ?kaVs esa 20 fdeh nwjh r; djrh
gS] tcfd bruh gh nwjh og /kjk ds izfrdwy fn'kk esa 5 ?kaVs
esa r; djrh gS] rks 'kkar ty esa uko dh xfr Kkr dhft,
?
(a) 7 km/hr (b) 8 km/hr
(c) 9 km/hr (d) 10 km/hr

16. A boatman rows 1 km in 5 minutes, along the
stream and 6 km in 1 hour against the stream.
The speed of the stream is ?

,d ukfod /kjk dh fn'kk esa 1 fdeh- nwjh 5 feuV esa r;
djrk gS rFkk /kjk ds izfrdwy fn'kk esa 6 fdeh nwjh 1 ?kaVs esa
r; djrk gS] rks /kjk dh xfr Kkr dhft, ?

(a) 3 kmph (b) 6 kmph
(c) 12 kmph (d) 8 kmph

17. A boat covers 24 km upstream and 36 km
downstream in 6 hours, while it covers 36 km
upstream and 24 km down-stream in 6½ hours.
The speed of the current is ?

,d uko 6 ?kaVs esa /kjk ds izfrdwy 24 fdeh nwjh rFkk /kjk
dh fn'kk esa 36 fdeh nwjh r; djrh gSA tcfd ;g 6½ ?kaVs
esa /kjk ds izfrdwy 36 fdeh- rFkk /kjk dh fn'kk esa 24 fdeh-
nwjh r; djrh gS] rks /kjk dh xfr Kkr dhft, ?

(a) 1 km/hr (b) 2 km/hr
(c) 1.5 km/hr (d) 2.5 km/hr

18. The speed of a boat in still water is 10 km/hr. It
covers (upstream) a distance of 45 km in 6 hours.
The speed (in km) of the stream is ?

'kkar ty esa ,d uko dh xfr 10 fdeh- izfr ?kaVk gS] ;g /
kjk ds izfrdwy 45 fdeh- nwjh 6 ?kaVs esa r; djrh gS] rks /
kjk dh xfr (fdeh@?kaVk esa) Kkr dhft, ?

(a) 2.5 km/hr (b) 3 km/hr
(c) 3.5 km/hr (d) 4 km/hr

19. The boat goes 12 km downstream and comes back
to the starting point in 3 hours. If the speed of
the current is 3 km/hr., then the speed (in km/
hr) of the boat in still water is ?

,d uko /kjk dh fn'kk esa 12 fdeh nwjh r; djrh gS rFkk
vkjafHkd fcUnq ij 3 ?kaVs esa okil vk tkrh gSA ;fn /kjkk dh
xfr 3 fdeh-@?kaVk gS] rks 'kkar ty esa uko dh xfr Kkr
dhft, ?

(a) 12 km/hr (b) 9 km/hr
(c) 8 km/hr (d) 6 km/hr

20. A sailor goes 12 km downstream in 48 minutes
and returns in 1 hour 20 minutes. The speed of
the sailor in still water is ?

,d ukfod /kjk dh fn'kk esa 12 fdeh- nwjh 48 feuV esa r;
djrk gS vkSj vkjafHkd fcUnq ij 1 ?kaVk 20 feuV esa okil vk
tkrk gS] rks 'kkar ty esa ukfod dh xfr Kkr dhft, ?
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(a) 12 km/hr (b) 12.5 km/hr
(c) 13 km/hr (d) 15 km/hr

21. A man rows boat 40 km upstream in 8 hours an
a distance of 36 km downstream in 6 hours. The
speed of stream is ?

,d O;fDr /kjk ds izfrdwy 40 fdeh- dh nwjh 8 ?kaVs esa r;
djrk gS rFkk /kjk dh fn'kk esa 36 fdeh- nwjh 6 ?kaVs esa r;
djrk gS] rks /kjk dh xfr Kkr dhft, ?

(a) 0.5 km/hr (b) 1.5 km/hr
(c) 1 km/hr (d) 3 km/hr

22. A boat travels 24 km down-stream in 6 hours
and 20 km down-stream in 4 hours. Then the
speed of boat in still water and the speed of water
current are respectively ?

,d uko /kjk dsizfrdwy 24 fdeh- nwjh 6 ?kaVs esa r; djrh
gS vkSj /kjk dh fn'kk esa 20 fdeh nwjh 4 ?kaVs esa r; djrh gS]
rks 'kkar ty esa uko dh xfr rFkk /kjk dh xfr Kkr dhft,?

(a) 4 kmph and 3 kmph
(b) 4.5 kmph and 0.5 kmph
(c) 4 kmph and 2 kmph
(d) 4 kmph and 2 kmph

23. If a boat goes 100 km down-stream in 10 hours
and 75 km upstream in 15 hours, then the speed
of the stream is ?

;fn ,d uko /kjk dh fn'kk esa 100 fdeh- nwjh 10 ?kaVs esa r;
djrh gS vkSj /kjk ds izfrdwy 75 fdeh- nwjh 15 ?kaVs esa r;
djrh gS] rks /kjk dh xfr Kkr dhft, ?

(a) 2 km/hr (b) 2.5 km/hr
(c) 3 km/hr (d) 3.5 km/hr

24. The speed of the current is 5 km/hour. A
motorboat goes 10 km upstream and back again
to the starting point in 50 minutes. The speed
(in km/hour) of the motorboat in still water is ?

/kjk dh xfr 5 fdeh-@?kaVk gSA ,d eksVjcksV /kjk ds izfrdwy
10 fdeh- nwjh r; djrh gS rFkk 50 feuV esa vkjafHkd fcUnq
ij okil vk tkrh gS] rks 'kkar ty esa eksVjcksV dh xfr
(fdeh-@?kaVsa esa) Kkr dhft, ?

(a) 20 (b) 26
(c) 25 (d) 28

25. The current of a stream runs at the rate of 4 km
an hour. A boat goes 6 km and comes back to
the starting point in 2 hours. The speed of the
boat in still water is ?

/kjk dh xfr 4 fdeh@?kaVk gSA ,d uko 6 fdeh dh nwjh r;
djrh gS rFkk 2 ?kaVs esa vkjafHkd fcUnq ij okil vk tkrh gSA
rks 'kkar ty esa uko dh xfr Kkr dhft, ?

(a) 6 km/hr (b) 8 km/hr
(c) 7.5 km/hr (d) 6.8 km.hr

26. A man swims downstream a distance of 15 km
in 1 hour. If the speed of the current is 5 km/hr,
the time taken by the man to swim the same
distance upstream is ?

,d O;fDr /kjk dh fn'kk esa 15 fdeh nwjh 1 ?kaVs esa rSjrk gSA
;fn /kjk dh xfr 5 fdeh@?kaVk gS] rks /kjk ds izfrdwy fn'kk
esa mruh gh nwjh rSjus esa mls fdruk le; yxsxk ?
(a) 1 hr 30 min (b) 45 min
(c) 2 hr 30 min (d) 3 hrs

27. A man can row 30 km down-stream and return
in a total of 8 hours. If the speed of the boat in
still water is four times the speed of the current,
then the speed of the current is ?

,d O;fDr 8 ?kaVs esa /kjk dh fn'kk esa 30 fdeh- nwjh r; djds
okil vk tkrk gSA ;fn 'kkar ty esa uko dh xfr /kjk dh
xfr dh pkj xquh gS] rks /kjk dh xfr Kkr dhft, ?
(a) 1 km/hr (b) 2 km/hr
(c) 4 km/hr (d) 3 km/hr

28. A person can row 7½ km an hour in still water
and he finds that it takes him twice as long as
to row up as to row down the river. The speed of
the stream is ?

,d O;fDr 'kkar ty esa 7½ fdeh nwjh 1 ?kaVs esa r; djrk
gSA og ikrk gS fd /kjk ds izfrdwy tkus esa] /kjk dh fn'kk
esa tkus dh rqyuk esa nks xquk le; yxrk gS] rks /kjk dh xfr
Kkr dhft, ?
(a) 2 km/hr (b) 3 km/hr
(c) 2½ km/hr (d) 3½ km/hr

29. A man can row 6 km/hr in still water. If the
speed of the current is 2 km/hr, it takes 4 hours
more in upstream than in the downstream for
the same distance. The distance is ?

'kkar ty esa ,d O;fDr dh xfr 6 fdeh-@?kaVk gSA ;fn /kjk
dh xfr 2 fdeh@?kaVk gS] rks /kjk dh fn'kk esa dqN nwj tkus
esa ftruk le; yxrk gS] mlls 4 ?kaVs vf/d le; /kjk ds
izfrdwy fn'kk esa mruh gh nwjh r; djus esa yxrk gS rks nwjh
Kkr djsa ?
(a) 30 km (b) 24 km
(c) 20 km (d) 32 km

30. Speed of a boat is 5 km per hour in still water
and the speed of the stream is 3 km per hour. If
the boat takes 3 hours to go to a place and come
back the distance of the place is  ?

'kkar ty esa uko dh xfr 5 fdeh@?kaVk gS rFkk /kjk dh xfr
3 fdeh@?kaVk gSA ;fn uko 3 ?kaVk esa fdlh nwjh rd tkdj okil
gk tkrk gS] rks nwjh Kkr dhft, ?
(a) 3.75 km (b) 4 km
(c) 4.8 km (d) 4.25 km

31. A boat covers 12 km upstream and 18 km
downstream in 3 hours, while it covers 36 km
upstream and 24 km downstream in 6½ hours.
What is the speed of the current ?

,d uko 3 ?kaVs esa 12 fdeh nwjh /kjk ds izfrdwy rFkk 18

fdeh nwjh èkkjk dh fn'kk esa r; djrh gS] tcfd ;g 6½ ?kaVs
esa 36 fdeh- nwjh /kjk ds izfrdwy rFkk 24 fdeh- nwjh /kjk
dh fn'kk esa r; djrh gS] rks /kjk dh xfr Kkr dhft, ?
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(a) 1.5 km/hr (b) 1 km/hr
(c) 2 km/hr (d) 2.5 km/hr

32. A boy can swim in still water at a speed of 10
km/hr. If the speed of the current would have
been 5 km/h, then the boy could swim 60 km. ?

'kkar ty esa ,d yM+dk 10 fdeh@?kaVs dh xfr ls rSj ldrk
gSA ;fn èkkjk dh xfr 5 fdeh@?kaVs gks] rks yM+dk 60 fdeh-
nwjh fdrus le; esa rSjsxk ?
(a) upstream in 4 hours
(b) downstream in 12 hours
(c) upstream in 6 hours
(d) downstream in 4 hours

33. A man can swim at the rate of 4 km/hr in still
water. If the speed of the water is 2 km/hr, then
the time taken by him to swim 10 km upstreasm
is ?

'kakr ty esa ,d O;fDr 4 fdeh-@?kaVs dh xfr ls rSj ldrk
gSA ;fn /kjk dh xfr 2 fdeh-@?kaVk gS] rks /kjk ds izfrdwy 10

fdeh rSjus esa mls fdruk le; yxsxk ?

(a) 2½ hours (b) 3½ hours
(c) 5 hours (d) 4 hours

34. The speed of a stream is 3 km/hr and the speed
of a man in still water is 5 km/hr. The time taken
by the man to swim 26 km downstream is ?

/kjk dh xfr 3 fdeh-@?kaVs gS vkSj 'kkar ty esa ,d O;fDr dh
xfr 5 fdeh-@?kaVs gS] rks /kjk dh fn'kk esa 26 fdeh- nwh og
fdrus le; esa rSjsxk ?

(a) 8
2

3
 hrs (b) 3

1

4
 hrs

(c) 13 hrs (d) 5
1

5
 hrs

35. The speed of a boat along the stream is 12 km/
hr and against the stream is 8 km/hr. The time
taken by the boat to sail 24 km in still water is?

/kjk dh fn'kk esa uko dh xfr 12 fdeh-@?kaVk gS vkSj /kjk ds
izfrdwy uko dh xfr 8 fdeh-@?kaVk gS] rks 'kkar ty esa 24

fdeh- nwjh r; djus esa uko dks fdruk le; yxsxk ?
(a) 2 hrs (b) 3 hrs
(c) 2.4 hrs (d) 1.2 hrs

36. Speed of a boat along and against the current
are 12 km/hr and 8 km/hr respectively. Then
the speed of the current in km/hr is ?

/kjk dh fn'kk esa rFkk /kjk ds izfrdwy ,d uko dh xfr

Øe'k% 12 fdeh-@?kaVs rFkk 8 fdeh-@?kaVs gS] rks /kjk dh xfr
Kkr dhft, ?

(a) 5 (b) 4
(c) 3 (d) 2

37.  A man can swim 3 km/hr in still water. If the
velocity of the stream is 2 km/hr, the time taken
by him to swim to a place 10 km upstream and
back is ?

'kakr ty esa ,d O;fDr 3 fdeh-@?kaVs dh xfr ls rSj ldrk
gSA ;fn /kjk dh xfr 2 fdeh-@?kaVs gS] rks /kjk ds izfrdwy 10

fdeh- rFkk okil vkus esa mls rSjus esa fdruk le; yxsxk ?

(a) 9
1

3
 hrs (b) 10 hrs

(c) 12 hrs (d) 8
1

3
 hrs

38. A swimmer swims from a point A agsinst a
current for 5 minutes and then swims backwards
in favour of the current for next 5 minutes and
comes to the point B. If AB is 100 metres, the
speed of the current (in km per hour) is ?

,d rSjkd] A fcUnq ls /kjk ds izfrdwy 5 feuV rd rSjrk gS
vkSj /kjk dh fn'kk esa vxys 5 feuV esa B fcUnq rd okil
vk tkrk gSA ;fn AB ds chp dh nwjh 100 ehVj gS] rks /kjk
dh xfr (fdeh- ?kaVk esa) Kkr dhft, ?

(a) 0.4 (b) 0.2
(c) 1 (d) 0.6

39. A person can row a distance of oen km upstream
in ten minutes and downstream in four minutes.
What is the speed of the stream ?

,d O;fDr /kjk ds izfrdwy 1 fdeh nwjh 10 feuV esa r;
djrk gS rFkk /kjk dh fn'kk esa mruh gh nwjh 4 feuV esa r;
djrk gS] rks /kjk dh xfr Kkr dhft, ?

(a) 4.5 km/hr (b) 4 km/hr
(c) 9 km/hr (d) 5.6 km/hr

40. A man rows down a river 15 km in 3 hrs with the
stream and returns in 7½ hrs. The rate at which
he rows in still water is ?

,d O;fDr unh dh /kjk dh fn'kk esa 15 fdeh nwjh 3 ?kaVs esa
r; djrk gS rFkk 7½ ?kaVs esa og okil vk tkrk gS] rks 'kkar
ty esa mldh xfr D;k gksxh ?
(a) 2.5 km/hr (b) 1.5 km/hr
(c) 3.5 km/hr (d) 4.5 km.hr
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